i ) ‘ |
) . u, ]ng) Up | I, | loo s | R / p j Re , R, | P, ‘U,ﬁ~ h
vV oo vV } mA | mA  mAV| ko ‘(gglg;)‘ Q ‘ ke | W vy
| ! | ‘ ! ! I I
| sat. triod. | 100 | | O \ 3,5 } 28 ,‘28 0 | # ‘ |
stat. triod. 300 ‘ ‘ maximum (P;=1W; =15 mA;R,=3 MQ; Ug, ECL82=100V;
| } Uy PCLJUCL 82 = 200 V)
VD-triod. 600 ‘ ‘ maximum (impulse 0,8 msec.)
A 1-pent. 100 1100 - 6 26 [ 5 | 68 (15 | (10) | 39(1,05/ 3,810,
| A 1-pent. 170 (170 '— 11,5 41 | 8 75 (16 | (9.5)| 39| 33| 6 |10
ECL 82  eur | 63078, |A1-pent. 200 170 - 12,5 35 | 6.5 ‘ 681205 (9.5) 561 3,4| 5810
PCL 82 | eur | 16 103 | JAf-pent. | 200 200 |- 16 | 35 ! 7 64 20 | (9.5) 56| 3,5 66[10
UCL 82 | eur ‘ 50 |04 | AB-pent. | 100 | 100 | (19+20)x2 3.6+ 68)x2 | 135| 5 | 22| 49| 25
| : | |ABpent. | 170 1170 | (33+37)x2  |(62+15) x2 1355 |7 |9 | 4
| | |AB-pent. 200 200 \ (35+38)x2  |(6,5+16,5)x2 165 5 | 9 [109] 48
\ | |stat. pent. 600 | 300 maximum (P,=7W; P,,=18W; I, =50 mA; R, =2MQ; U, ECL 82=100 V;
o Upy PCLJUCL 82=200 V)
VD-pent. —500+ l l maximum (impulse 0,8 msec)
+2500 |
stat. triod. 170 ‘ ‘l— 1,5| 1,6 ‘ [ 2,1 | 40 l 82 ’
ECL 83 | Mul ! 63 06 | [stat. triod. 200 ‘ - 15| 24 | . 2534 | 85 |
250 ! maximum (P, = 3,5W; I, = 15 mA)
vy | irg 03 | [stat triod. 2% |- 85 105 | 2277117 | | | |
PCL 83 u 26103 | 250 | 3509) maximum (P, = 35W; I, = 20 mA; I, = 250 mA?))
| (Al-pent. 170 170 — 95| 30 5 | 5553 270 | 55( 22| 5 [10
" {A1-pent. 200 200 - 13 | 27 44 | 5 |65 (410 7,5 25| 52[105
AB-pent. 170 1170 (24 +27,5)%x2 ( 38+ 62)x2 | 180 | 65| 5 | 85 36
el R o310 | JAB-pent. 200 200 (25 +29 )x2i( 3.9+ 85)x2 | | 20| 75 7,2{12 | 42
PCL ul 610, 250 250 maximum (Py=54W; Py =12W; | = 45 mA; Uy, =100 V)
. |VD-pent. —500+ | ‘ maximum (impulse 400 ysec)
| ! 42000
| } ’ ( stat. triod. | 150 — 1 2 | | 16035 | s || |
' | ‘ \ stat. triod. 250 ‘ maximum (P, =1W; I, =8mA; R, =1,5MQ)
‘ . 1A1-pent. 250 250 - 3,5 25 ! 35 85 40 | (33) 100 |12,5/225| 2,1 10
ECL 113 | TIf \ 63103 ‘ B-pent. 250 250 — 6,3 (65+15 )x2 (0.95+ 2,9)x2 | o ! 20 }4 ‘ 34| 3
; ; ' |AB-pent. 250 | 250 ‘ (11,4-142)x2 (17 = 2,9)x2 | . 1140 (20 |4 | 38| 1,9
| ‘ i stat. pent. 250 ‘ 250 ! maximum (P, = 65W; P,y =1W; I =40 mA; R, =1,2MQ; U, =50V)
| \ [t ried 250 2 35| | 22131 | €8 | o
| stat. triod. 250 i maximum (P, =3,5W; Up = 150 V)
HN 309 } MOG, 126103 1 Ystac. pent.) } tes  |tes|_ 9 | 30 | 5 47045 9 |
; | \stat. pent. 250 ( 250 [ maximum (P,=54W; P, =12W; U, =150V)

Y




U | I U, Up | U I, Ios s [ R k[ R R | Py [Upal
T. —_— Cl. - ———— - —— e | ——
v ] a v Vv mA mA mAIV| KQ |gifg, @ | kQ | W v %
| | I ‘ ] i
stat. triod. 250 — 85 12 22| 77]17 ( ‘ f
stat. triod. 250 maximum (P, =35W; U =150V)
stat. Fig. 6 165 -9 1 40 ; Lse 7S | | |
stat. Fig. 6 250 maximum (P, = 6,6 W)
stat. pent. 165 165 | — 9 ! 30 5 47 |45 | 9
LN 309 | MOG| 2 |126(03 | {1 are 100 100 | — 5 | 20 3 20| 5 | 08| 4 (10
A1l-pent. 165 165 | — 8,4 32 I 6 220 | 6 21| 6,5(10
AB-pent. 165 165 | —11,5| (23+28)x2 | (3=6) x2 20| 6 | 52[14 | 2,3
AB-pent. 200 160 | —11,5| (23=27)x2 \ (3=55)x2 20| 6 | 54[135| 26
\stat. pent. 250 250 maximum (P, =54W; P, =12W; Uy, =150 V)
(stat. triod. 100 3,3 3,6 |16,7]60 | 300
stat. triod. 250 9 49 112 |60 220
6 CN 8 | amer 1 6,307 stat. triod. 300 maximum (P,=225W; R, =0,5MQ; Uy =90V)
16 CN 8 | amer 1 |16 (0,3 A1-pent.?) 170 170 | —11,5! 4 | 7,5 7,5 381 3,3 10
Al-pent. 200 200 | —16 35 } 6,5 6,4 5 | 35 10
\stat. pent. 600 250 maximum (Po=7W; P, =18W; [, =50 mA; R,; = 2 MQ;Up, =200 V)
| [ |
stat. triod. 250 — 8 9 26| 77120
15A8 | amer | 4 {15 106 {stat. pent. 10 [110 | — 7,5! 45 1 } 73 113 |
! | !
1) vide LN 307,
*) vide ECL/PCL 82,
3) impulse = 400 usec
T Cok | Cai Cerra | Cour Carin Catrap CeTiar CeTrar
pF pF pF pF pF pF pF pF
ECL 82 triod. 3 43 4,5 0.1 Equivalents
pent. 9,3 8 0,3 0,3 0,02 0,25 0,025 0,02
ECL 83 triod 2,3 0,32 1,6
, ) s B = 2
PCL 83 { pent. | 57 | 47 | 02 | 04 0.1 1,6 0,03 0,05 6BM 38 amer = ECL 8
triod. | 1,7 0.3 16 A 8 amer = PCL 82
HN 309 { pent. | 6 69 | 02 02 1.9 0,03 0,02
triod. 1,7 0,3
LN 309 { pent. | 6 69 | 072 0.12 1,9 0,03 0,05
cN triod. | 2,7 2,5 1.4 01
6 CN 8 pent. | 9 8 03 | 03 0,015 0.1 0,02 0,015




ECL 82

Fig. 5 (R = 3MQ; R, = 0,68 MQ)

PCL 83 Fig.5 (R,=100kQ;R, = 330 kQ)

U, R, Ry I, U, u h
v kQ | kQ mA \% UpdUpns | %
100 100 18 0,38 1 4 2,8
100 220 2,7 0,23 15 47 4,0
170 100 1,8 0,67 25 46 2,8
170 220 2,7 0,43 25 51 2,3
200 100 1,5 0,84 30 47 2,3
200 220 2,2 0,52 26 52 1,5
ECL 82 Fig. 5 (R =22 MQ; R, = 0,68 MQ)

Ub Ra Rk Ia Ua«f«\: u h

v kQ Q mA v UpdUprs | %
100 100 0 0,37 8 4 1,3
100 220 0 0,22 9 46 1,5
170 100 0 0,86 19 49 1,4
170 220 0, 05 20 53 1,4
200 100 0 ! 1,05 24 50 1,5
200 220 0 0,61 25 55 1,4

Ub Rk ’a Uam /,l,
v kQ | mA v Up U,
170 2,7 1,07 21 14
200 33 | 1,17 26,5 13,5
!
ECL 113 Fig. §
Uy = —15V; h = 18%)

U, R, I, #

v kQ mA | Uy U, .

250 100 1.1 40

250 200 0.6 45

HN 309 Fig. 5 (R, = 150 kQ; R, = 2,2 kQ)

ECL 83 Fig. 5 (R, = 100 kQ; R, = 330 kQ)

Uy Ry I, Ugeo u

\ kQ mA v Ugrid U
170 1.8 0,65 15,3 49
200 2,2 0,72 17,7 47

U, I I, p U, h
V| mA | UpfUpe v A
‘ { i
165 [ 055/ 55  565+1025 1 = 2
200 | 0,7 50 69 ~11,4 | 1 ~ 2
250 | 07 4595 +166 1+ 2
|
LN 309 Fig. 5
(R, = 100 kQ; R, = 270 kQ; pu = 12)

U | U, | Re | I, U, h
v v kQ ‘ mA v %
165 | —3 2 l 11| 542125 [1=2
200 | —43 | 33 |13 81+16 |12
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